






a) 2 days

b) 3 days

c) 1 day

d) 4 days

John can complete a piece of work in 6 days working 8 hours each day and 

Manu can complete it in 3 days working 4 hours each day. How long will they 

take complete it, working together 9 3/5  hours a day?

जॉन एक कार्य को प्रतितिन 8 घंटे कार्य करिे हुए 6 तिनों में पूरा कर सकिा है और मनु प्रतितिन 

4 घंटे कार्य करिे हुए इसे 3 तिनों में पूरा कर सकिा है। तिन में 9 3/5 घंटे एक कार्य काम करिे 

हुए, वे इसे पूरा करने में तकिना समर् लेंगे?



a) 136

b) 126

c) 132

d) 142

The greatest number that divides 415, 688 and 825 leaving 7, 8 and 9 as 

remainders, respectively is:

सबसे बड़ी संख्र्ा जो 415, 688 और 825 को तवभातजि करि़ी है, क्रमशः 7, 8 और 9 को 

शेषफल िेि़ी है:



a) ₹62,000

b) ₹63,000

c) ₹65,000

d) ₹64,000

The ration of monthly income to the expenditure of a family is 14 : 11. If the 

monthly savings of the family is ₹13,500. then the monthly income of the 

family is :

एक पररवार के व्र्र् के तलए मातसक आर् का अनुपाि 14 : 11 है। र्ति पररवार की मातसक 

बचि 13,500 रुपरे् है। िो पररवार की मातसक आर् है:



a) 8 days

b) 7 days

c) 9 days

d) 10 days

A can complete a project in 10 days and B can complete the same project in 

15 days. If A and B start working on the project together and B quits 5 days 

before the project is completed, in how many days will the project be 

completed?

A एक पररर्ोजना को 10 तिनों में पूरा कर सकिा है और B उस़ी पररर्ोजना को 15 तिनों में 

पूरा कर सकिा है। र्ति A और B तमलकर पररर्ोजना पर कार्य करना शुरू करिे हैं और B 

पररर्ोजना को पूरा होने से 5 तिन पहले कार्य छोड िेिा है, िो पररर्ोजना तकिने तिनों में पूरा

होगा?



a) 3 years

b) 4 years

c) 6 years

d) 5 years

In how much time will ₹5,000 amount to ₹6,800 at a simple interest of 9% per 

annum?

9% प्रति वषय के साधारण ब्र्ाज पर तकिने समर् में 5,000 रुपरे् की रातश 6,800 रुपरे् हो 

जाएग़ी?



a) 450

b) 480

c) 500

d) 600

A sold an article to B at 25% profit, who sold it to C at 20% profit. C sold is 

to D at 45 % loss. If D bought it for ₹330 then B bought the article (in ₹) for:

A ने एक वस्िु B को 25% लाभ पर बेचा, B ने इसे C को 20% लाभ पर बेच तिर्ा। C, D 

को 45% हातन पर बेचा जािा है। र्ति D ने इसे 330 रुपरे् में खऱीिा िो B ने तनम्नतलतखि के 

तलए वस्िु (रुपरे् में) खऱीि़ी:



a) 160

b) 180

c) 120

d) 140

The average of five numbers a, b , c, d and e is 150. If the average of the first 

three numbers a, b and c  is 130, then the  average of the last two numbers d 

and e is:

पााँच संख्र्ाओ ंa, b, c, d और e का औसि 150 है। र्ति पहल़ी ि़ीन संख्र्ाओ ंa, b और c 

का औसि 130 है, िो अंतिम िो संख्र्ाओ ंd और e का औसि है:



a) 17 3/21%

b) 19 1/4%

c) 16 3/4%

d) 19 1/21 %

If the cost price is 84% of the selling price, then what is the profit percentage?

र्ति क्रर् मूल्र्, तवक्रर् मूल्र् का 84% है, िो लाभ प्रतिशि क्र्ा है?



a) ₹490

b) ₹615

c) ₹525

d) ₹516

Find the compound interest on ₹1,600 at 15% per annum for 2 years, 

compounded annually:

₹1,600 पर 2 वषों के तलए 15% प्रति वषय की िर से चक्रवतृि ब्र्ाज ज्ञाि कीतजए, जो वातषयक

रूप से संर्ोतजि है:



a) 34

b) 28

c) 35

d) 36

The average age of five person is 28 yrs. If one of them is excluded the average 

decreases by 2 yrs. The age of the excluded person in yrs is:

पााँच व्र्तिर्ों की औसि आरु् 28 वषय है। र्ति उनमें से एक को बतहष्कृि कर तिर्ा जाए िो 

औसि 2 वषय कम हो जािा है। वषय में बतहष्कृि व्र्ति की आरु् है:



a) 225

b) 565

c) 678

d) 350

A box contains 25p and 10p in the ratio 6 : 5, amounting to ₹226. Find the 

number of 10p coins.

एक बॉक्स में 25 पैसे और 10 पैसे का अनुपाि 6 : 5 है, तजसकी रातश 226 रुपरे् है। 10 पैसे के 

तसक्कों की संख्र्ा ज्ञाि कीतजए।



a) 104

b) 124

c) 114

d) 106

The ratio of four positive numbers is 5 : 8 : 12 : 18 and their LCM is 2880.The 

difference between the greater and the small number is:

चार धनात्मक संख्र्ाओ ंका अनुपाि 5 : 8 : 12 : 18 है और उनका लघुत्तम समापवत्र्य 2880 

है। बड़ी और छोट़ी संख्र्ा के ब़ीच का अंिर है:




